
SOLVING QUADRATIC FUNCTIONS
USING SQUARE ROOTS

Lesson 9.2







































The square of a real number cannot be negative.  

That is why the equation in part c has no real solutions.
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𝟗(𝒙 − 𝟐)𝟐= 𝟐𝟓 Write the equation.

(𝒙 − 𝟐)𝟐=
𝟐𝟓

𝟗
Divide both sides by 9.

𝒙 − 𝟐 = ±
𝟓

𝟑
Take the square root of each side.

𝒙 = 𝟐 ±
𝟓

𝟑
Add 2 to each side.

So, the solutions are 𝒙 = 𝟐 +
𝟓

𝟑
= 𝟑

𝟐

𝟑
𝒐𝒓 𝒙 = 𝟐 −

𝟓

𝟑
=

𝟏

𝟑

Solve 𝟗(𝒙 − 𝟐)𝟐= 𝟐𝟓 using square roots.

a.

b.















5.5 feet is a reasonable

solution because 30 falls

between 25 and 36










